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@, Sindhi High School- K K Road, Bengaluru-01
S Periodic Test-3 (2023-24)
English
Class t6A/B/C Marks : 30
Date : 13/02/2024 Time :1hr
No of pages-3 Reading Time : 8-8.10am
General I nstructions: This paper contains three sections. All sections are compulsory.
Section A — Reading — 5 marks
Section B — Writing & Grammar - 15 marks
Section C - Literature — 10 marks

Section A- Reading
I. Read the passage given below and answer the questions that follow:

1. The extinction of species, that is, our flora and fauna is nothing new for the planet, but

the rate of extinction has increased at an alarming pace. Sadly, we have played a major

role in the process. It has been estimated that some 50,000 plants and animal species will

become extinct every year in the coming decades. The loss of insects and microorganisms

cannot be calculated. The destruction of our ecosystem is so alarming that as many as

60,000 plant species are expected to be lost by the year 2025.

2. However, according to the Centre for Biological Diversity, ‘Unlike past mass
extinctions caused by events like asteroid strikes, volcanic eruptions and natural climate
shifts, the current crisis is almost entirely caused by us — humans. Ninety-nine per cent of
currently threatened species are at risk from human activities, primarily those driving
habitat loss, introduction of exotic species and global warming.’

3. The habitats are often destroyed because of destructive changes to environments. These
could either be attributed to natural phenomena such as floods, volcanoes and hurricanes
or human activities such as construction, deforestation, changing land use for agriculture
and artificial land drainage. Hunting and poaching of rare plants and animals is a
significant cause of extinction and represents a major or dominant factor in the decline of
certain species.

4. The introduction of plant and animal species that are not native to a given area may
upset the balance of the local ecosystem. Pollution is yet another cause of extinction and
may impact entire ecosystems. For example, the pesticide DDT had a catastrophic impact
on our écology. The spread of disease may be both a natural and human factor behind the
extinction of species.

Questions: (1x5=5)
1. Why is the extinction of species a cause for alarm?

2. How did! extinction take place earlier?

3. How is the next mass extinction likely to happen?

4. Complete the statement:The habitats are often destroyed because of
5. Find the synonym of the word- destruction from the above lines. (paragraph-5)
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[1. Write an application letter to The Principal, D.A.V. Public School, Pitampura, New h
Delhi requesting her to allow you to change your section, giving a suitable reason for ((:S
)

same. You are- Amrit/Amrita of 25/34, Punjabi Bagh, New Delhi

OR

Cruelty to animals is growing day by day due to human greed. This is not good for the
ecosystem. Animals too are a part of our life. Inorder to create awareness for the same,
you have been asked to write an article for your school magazine ‘Live and Let Live’ in

about 80-100 words. You are Rohit/Rohini. (5)
-
[11. Complete: the given story using suitable prepositions: (2%6=3)
| of, around, on, in, by, towards, from |

_____avery hot and sunny day, a thirsty crow was flying ____ search of water. Due to the
hot weather, most the ponds had dried up. Suddenly, he saw a vessel on the ground.
When he lew it, he saw there was very little water at the bottom of the vessel.
While thinking about how he could drink that water, he saw little pebbles lying . He
started dropping them one one into the vessel. After some time, the water level rose.
The thirsty crow quenched its thirst and flew away happily.
Do as directed: (2x4=2)
1. India won the match . (easy)

[Fill in the blank using suitable adverb of manner for the given word] ~

2. Charles Babbage is considered as ___ father of computers.
[Fill in with suitable article]
3. There is little water in the jug.
[Pick out the adjective]
4. Sheela _ to be a Police Officer when she grows up. (want)
[ Complete the sentence using the correct form of the verb given in brackets]



Section C-1,

IV. Read the given extract and answer the questions that follow:

1. When the gong sounds ten in the morning and I walk to school by our lane,
Every day I meet the hawker crying, “Bangles, crystal bangles!”
There is nothing to hurry him on, there is no road he must take,

no place he must go to, no time when he must come home.
[ wish I were a hawker, spending my day on the road, crying, “Bangles, crystal

(1x4=4)

bangles!”
1. Name the poem and the poet.
(a) Occasion by Rabindranath Tagore
(b) Vocation by Rabindranath Tagore
(¢) Occasion by Shirley Bauer
(d) Vocation by Shirley Bauer

2. Who is the speaker in the poem?

(a) The speaker is; a hawker

(b) The speaker is a gardener

(c) The speaker is a schoolboy

(d) The speaker is a watchman

3. When does the speaker meet the hawker?
4. Why does the speaker envy the hawker?

V. Answer the following questions in 40-50 words. (2%3=6)

1. What does the poet compare the street lamps to? What does he feel about the

watchmarn in the poem Vocation?

2. Who made a pact with the sun? Why?
3. Compare and contrast the characters of Jumman and Algu from the lesson Fair Play.

How are: they similar to each other?

VL. Answer the following in about 80-100 words: &)
1. The moment Jumman became head Panch, he realised his responsibility as judge and

the dignity of his office. Could he, seated in that high place, have his revenge now? He
thought and thought. No, he must not allow his Dpersonal feelings to come in the way of

speaking the truth and doing justice. ,
Imagine that you are Jumman from the lesson Fair Play. Write a diary entry expressing

your feelings after you were appointed as headpanch.
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SINDHIEHIGH SCHOOL KK ROAD, BENGALURU 01
PERIODIC TEST HI(2023-2024)
SUBJECT: MATHEMATICS

Class 6 A/B/C Max marks: 30

Date: 6/2/2024 Reading time: § to B:10am

Number of printed sides: 3 Writing time: 8:10 tw9:10am
General Instructions:

o Write your name, roll number, class and section, date and subject clearly in your
answer senpt
o Write the page number on the right hand side top comer of cach side of the papet
o All questions are compulsory.
e This Question Paper has § sections:
Section A has 6 MCQ's of | mark cach,
Section B has 3 questions of 2 marks each
Section € has 3 questions of 3 marks cach
. Section D has | question of § marks
_Section E has | case study based question carrying 4 marks

A e ed B e

SECTION A

Choose the correctanswer (1xb6)

1) One square centimetre is oqug) ' :
a) 100sqmm  b)lem <) I0sqmm d) 100m
2) The cquation for “ Six times a number is cqual to 48”7

18 writicn as
a) X~ OxdR h) x 648 ¢) bn-AR d) v6-4R

3) If the length and breadth of a rectangle are “x™ and “y™ , then
its perimetcr 18

a) x+y b) xy ¢) Wy d) 2x*v)
4) $taken away from the sumof “a"and "b™1s
a)(a+h) - § b)(ath)sS <) S ath d) a+t$
$) The arca of a rectangular garden 80m long is 400sq.m. lis width s
a)6m  b) Sm ¢) §m d) IZm



6) Assertion (A) — The rule, which gives the number of matchsticks
required to make the matchstick pattern L, is 2n.
Reason (R) — For n = 1, the number of matchsticks
required=2x1=2 :
a) Both A and R are true and R is the correct explanation pf A
b) Both A and R are true but R is not the correct explanation of A

¢) A is true but R is false
d) A is false but R is true

SECTION B (2x3=6)

7) a) Find the rule which gives the number of matchsticks required to
make the pattern of letter H .
b) Write the equation in the form of a statement.
2x+5=7
8) If the side of a square is 4.6m , find its perimeter and area.
9) Solve x +9 =12 by trial and error method.

SECTION C (3x3=9)

10) By splitting the following figure into rectangles, find the area
of the figure .

&>

S5cm M
s

Y &=

11) Write the terms in each algebraic expression
a) 3x-2y+z b) x} +2x + 3

12) The floor is 6 m long and 4m wide. A square carpet of side 4m
is laid on the floor. Find the area of the floor that is not carpeted ?

SECTION D (1x5=5)

13) The length of a rectangular blackboard is 4 times its width. If the
width is 1.5m, find its area. Find the cost of painting the blackboard
at the rate of Rs 6.50 per sq.m



SECTION | (13d-4)

14) Case \!ml_s

Sunita has drawn a beautiful rangoli patiern . She places ¥ dots in & row

(1) How many dots will her rangoli have for “t™ rows 7

(11) How many dots will be there for 12 rows

(1) Wnite an algebraic expression for the sum of the number of
given dots in (1) and (11)
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correct answer from the tulkml’“ options.
a) Both assertion and reason are correct statemenis, and

renson Is the correct explanation for assertion.

| b) Both assertion and reason are correct stalements but

reason s not the correct explanation for assertion.

©) Assertion is correct but reason is the wrong statement.
1 Cd) Assertion is wrong but reason is the correct statement.
4 Assertion: A frecly suspended bar magnet always comes Lo rest
‘ " in north-south direction

 Reason: A magnet has north and south pole

————— T —— g A T g+ g -

5~ T Assertion: Atom is the tinicst particle of matier.
| Reason: ltisindivisible. | |
6 | Assertion: Living organisms have movement. i

Reason: In plants, movement is observed in flowers while
- blooming.

!
|
r
71 3) Differentiate betwoen magnetic matcrials and non-magnetic
| ' materials.

{ 1

|

| b) List the magnets of diffcrent shapes (any two)

sand. Wiite the stops sorvod vesd i
giving an activity

o
t 8 - You are W\M"nﬁh a mixture of salt and
| %fmluwmofﬂdlww{mﬂ:mmmh
'  along with the diagram

s s AR ALk -

'[6 t nl)]ﬂc;mnatc bdwwn hiotic and abot ca'liw ent of 2 habital. i

| b, List the two types of habitats

—_— Section €t
i d seead some ron fillings on & whde shct. She UL 5
magnet on the iron fillings.

| o the iron fillings. Justify
. “M_ gy - <howing the above cxperiment
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b) Potassium

a) Identifyhe above image and its hit.
b) Give reason:

(i)Cactus plant has leaves reduced to spines.
(ii)Mountain goats have strong hooves.

| (iii)The lion has the eyes in front of the face.

\
\ (iv)The trees in mountain region are normally cone shaped and
| have sloping branches.

¢) Gold
d) Mercury
e) Lead
Pz I+1+
1+1+
1
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W K.K. ROAD BENGALURU -01 o B
PERIODIC TEST-03 -(2023-2024)

SUBJECT: SOCIAL SCIENCE
Date: 7/02/2024 Time: 8:00-9:10
Class: 6 A/ B/ C " Maﬂ;s- ;o T
No.of printed sides: 1 ]
ANSWER ALL THE QUESTIONS:

1. | The capital of the Mauryan empire was

a) Pataliputra b) Rajagriha i imk.
¢) Ujjain d) Taxila

2. Sindhi was the first eastern language into whichthe ____ was

translated. P

| a) Bible b) Quran c) Bhagavad Gita d) Ramayana

3. | Spraying pesticides is a non-farming activity
a)true  b)false ' Lmik.

4. | Working on farms involves operations §uch as
a) preparing the land b) sowing imk.

c) winnowing d) all of these

5. | Which one is not the layer of atmosphere? im
a) The Biosphere b) The Troposphere
c) The Stratosphere d) The Mesosphere

6. | The mountain range that separates Europe from Asia is imk.

a) The Andes b) The Alps
c) The Urals d) The Himalayas

7. | a) Define: Dynasty

| b) How are empires different from kingdoms? | 1+42mk.

8. | Give three reasons for the crop failure. 3mk.

3mk.

9. | Write a note-on the busiest Ocean.

e ETS a) What was Ashoka’s dhamma?
2+3mk.

Smk
2+3mk.

- b) Analyse Ashoka’s war in Kalinga.
k 11. ["Discuss the life of the poor flshing.families.

12. | a) Differentiate between Strait and Isthmus.

b) Describe the varlous features of Africa.
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